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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A FI054£01 4 10H eI Dt e/ 82 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
X R & JE 10. 00| AHxf 75 7501 1,188 958 540
[ B | 10,00 fxt|  2s0] 2,800 1,206 1,127] 540
EAS £ % 10. 00 | #856f 468 4,680 1,998 1,682| 1,458
wiRE | 10000/t so| soo| | 1,188
R M5 5. 00| FHxf 46 230  3,456| 2,059 648
H X L 13. 00| fHxf 200 2, 600 864
EISEaNe) L JE 12. 00 | ¥ 314 3,768 1,296 1,026 648
1T NAEL w5 4. 00 | FH%f 125 500 2,484 2,376 2,268
H % o e 3. 00 | FHxt 195 585 1,998 1,531 864
B OA [T 1. 00| FHxf 285 285 1,080 858 432
ENIE s.00[ A%t 20 100 3,780 2,975 1,944
A 5 2. 00 [ FH %} 264 528 756 702 432
= 5 4. 00 | FHxF 166 664 1,188 1,126 864
[N w5 5. 00| FHxf 1,516 7,580 1,890| 1,629 1,080
~7 b= b = 3. 00 [ FHx%} 44 132 1,080 1,046 756
S Fosk L 2. 00| FHx%f 5 10 2, 808
H ik w5 5. 00| FHx%f 176 880| 1,944| 1,857| 1,296
A—0 4 AbifEE 10. 00| 4B} 50 500 1,188
B %O 10. 00| AHxf 235 2,350 3,240 2,325| 1,836
£ A L 10. 00 [ #H % 341 3,410 4,644 2,048 1,080
LA R o 10. 00 | #H%f 626 6,260 4,104 3,571 2,160
P=—1rF & 4. 00| FHxf 945 3,780 1,944 1,527 1,080
Ty al— . 6. 00 | FH*} 183 1,098 2,700 2,558 1, 620
= 1| 6.00| a1 o] 6ol | 2,916]
AEMEE O 0. 10| #Hf | 6, 450 645 238 178 65
ZDEH E % 0. 20| FA%F 1, 380 276 104 77 58
LU 5 % 0. 20 | FH%f 420 84 99 86 81




1D:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A FI054£01 H 10 H eI Dt e/ 32 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]
38 Foak L 10. 00 | #H%F 626 6,260 4,517 3,280 1,080
Cimigii) g, 10. 00 | #H%f 75 750 3,672 3,190| 2,700
VaFa—)L iR 10. 00 | #Hx%f 3 30 3, 564
AVavE 7 4 U E | 13.00| ¥E%F 22 286| 2,646| 2,587| 2,538
T AL — = R 0. 27 | ¥} 302 82 410 363 302
HEFH D & ] 0. 27 | ¥H %} 3, 760 1,018 702 624 432
S 5 0.25( f#Hxt [ 13,370 3, 353 486 381 216
IRBHD Y £ I 0. 25| FH*} 7, 560 1,893 410 376 270




